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1x1 = 1 2 x 3x1 = 4x1 5x1 =
1x2=2 2x2 3x2 = 4x2 5x2=10
1x3 = 3 2x3 3x3=9 4x3 5x3 =15
5 1x4 = 4 2x4 3x4 =12 4x4 5x4 =20
apple orange « W 1x5 = 5| 2x5 3x5 =15 || 4x5 5x5 = 25
\ mango pear 1x6 = 6 2x6 3x6 =18 4x6 5x6 = 30
] blackberry 1x7 = 7 2x7 =14 3x7 =21 4x7 =28 5x7 =35
‘ 1x8 = 8 2x8 =16 3x8 =24 4x8 =32 5x8 = 40
-— k 1x9 = 9 2x9 =1B 3x9 =27 4x9 =3S 5x9 =45
banana cherry ' 1x10 = 10 2 x10 = 3x10 = 4 x10 = 5x10 =
avocado ‘
Table of 6 Table of 7 Table of 8 Table of 9 Table of 10
sapodilla 6x1 = 7x1 8 x = 9 x =
watermelon blueberry 6x2 = 12 7x2 ax2 = 1s 9x2 10x2=
Y 6x3 =18 7x3 8x3 =24 9x3 10x3=30
ldwifruit  coconut 6x4 =24 Tx4 8x4 =32  9x4 10x4= 40
o~ 6x5 =30 7x5 8x5 =40 9x5 10 x 5 = 50
1’ 3 _ 6x6 =36 7x6 8x6 =48 9x6 10 x 6 = 60
litchi dragon fruit 6x7 = 42 7x7 8x7 =56 9x7 10 x7= 70
greengage plum i 6x8 = 48 7x8 8x8 =64 9x8 10 x 8 = 80
= 6x9 = 54 7x9 8x9 =72 9x9 10 x 9 = 90
"' A 6 x10 = 60 7 x10 8 x10 =80 9x 10 10 x 10 =100
/= swberry
* 13x1=13 15x1 = 15
v 13x2= 26 15x2 = 30
’ 13 x3= 39 15 x 3 = 45
apricot 5 AN 13x4= 52 15x 4 = 60
, 13 x5= 65 15 x5 =75
Py / 13 x 6 = 78 15 x 6 = 90
. )/ 3 13x7= 91 15 x 7 =105
13 x 8 =104 15 x 8 =120
‘ 13 x9 =117 15 x 9 =135
bread fruit 13 x10=130 15 x 10 =150
jujube
Table of 17 Table of 18 Table of 19 Table of 20
> 18x1 =18 20x1=20
£ 18 x2 = 36 20 x 2 = 40
18 x 3 = 54 20 x 3 = 60
. 18 x4 =72 20 x 4= 80
guava 18 x5 = 90 20 x 5 =100
18 x 6 =108 20 x 6 =120
o st 18 x 7 =126 20 x 7 =140
- A 18 x 8 =144 20 x 8 =160
Oy, 18 x 9 =162 20 x 9 =180
passion fruit jackfruit kumquat tamarillo pomegranate grapes 18 x 10 =180 20 x10=200
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seventeen oranges eighteen balls nineteen strawberries twenty coins puzzle cube
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bitter gourd

onion
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celery

spinach

potato

cauliflower
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Q cabbage
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radlsll yam [ sweet potato)
e‘ plant(brinjal) .
f apple gourd “
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amhulance
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i j tractor
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-~ mobile crane
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tram steam engine




